
Subject: Re: Is LINUX the inheritor of the Earth?
Posted by Anonymous on Wed, 05 Dec 2018 17:39:31 GMT
View Forum Message <> Reply to Message

Originally posted by: JimP

On Tue, 4 Dec 2018 09:00:30 -0800 (PST), Quadibloc <jsavard@ecn.ab.ca>
wrote:
> On Tuesday, December 4, 2018 at 6:38:00 AM UTC-7, Peter Flass wrote:
>>  People live
>>  in one suburb and work in another. There's no good way to support this mesh
>>  with public transportation. We need to start recentralizing, with offices
>>  in the central city and manufacturing clustered so that public transit can
>>  work.
> 
> People live in suburbs so that their children might be safe when going to school.
> 
> To fix America's transportation problems, therefore, one would first have to fix 
> a rather *more* intractable problem.

When I lived in Maryland, I found that the transport system had ben
added since the last time I was there. I could take a train car, I
suppose that is that they are, into D.C. However, if I wanted to go to
another area on one of the other wheel spokes, I would have to go
almost nto D.C., and then go back out to where I wanted to shop.

I asked my employer why that was ? He told me that the system was
designed to get people to work and back. There had been talk for years
to connect the spokes, but there was lots of Not in My Back Yard. So
it never got done.

--  
Jim
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